
 
 

6.RP.3.D -Test 1B 

Multiple Choice 

Identify the choice that best completes the statement or answers the question. 

  

 1.  A gallon container of tropical fruit juice cost $8.00.  What is the cost of the juice per cup? 

a. $5 c. $1 

b. $.50 d. 2 

  

 2.  Which is more 2 kilometers or 250 meters? 

a. 250 meters c. 2 kilometers 

b. Neither, they are both the same.   

  

 3.  2 lbs 3 oz times 25 = 

a. 57 lbs 5 oz c. 56 lbs 3 oz 

b. 50 lbs 75 oz d. 54 lbs 11 oz 

  

 4.  3 yds 2 ft + 2 ft = 

a. 4 yds 1 ft c. 5 yds 

b. 3 yds 4 ft d. 4 yds 

  

 5.  Convert 

 

9 yds 2 ft =  ______ft 

a. 29 ft c. 20 ft 

b. 38 ft d. 11 ft 

  

 6.  Convert 

 

6 gallons 2 quarts = _____quarts 

a. 8 quarts c. 14 quarts 

b. 12 quarts d. 26 quarts 

  

 7.  Which is more 6 pints or 3 quarts? 

a. 3 quarts c. 6 pints 

b. Neither, they are both the same.   

  

 8.  Which is more 2.5 meters or 260 centimeters? 

a. 260 centimeters c. 2.5 meters 

b. Neither, they are both the same   

  

 

 

 

 



 

 

Completion 

Complete each statement. 

  

 9.  ½ mile = _____ ft 
  

______________________________________ 

  

 10.  3 miles is the same as _____ kilometers. 
  

______________________________________ 

 

 

 

 

 

 

 

 

 

 

 
Answer 1: B 

Answer 2: C 

Answer 3: D 

Answer 4: A 

Answer 5: A 

Answer 6: D 

Answer 7: B 

Answer 8: C 

Answer 9: 2,640 

Answer 10: 4.8 

 

 

  


